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[=fiva K4 B GROSS HDCP | NET
B B/ dPEH O 36 40 76 7.2 68.8
BB A B O 40 46 86 16.8 69.2
L RHIK =i O 51 47 98 27.6 70.4
ML T EF O |44 41 85 14.4 70.6
561 FH¥H {EA O 39 40 79 1.2 711.8
6 ZEJII EFE O 38 40 78 6.0 72.0
L Kk B O |40 44 84 12.0 72.0
8 ¥t O 43 41 84 12.0 72.0
it =# 47T O 39 45 84 12.0 72.0
106 25 HEH O 44 46/ 90 18.0 72.0
112 BE H 41 48/ 89 16.8 72.2
1260 /B F— 39 41 80 7.2/ 72.8
1365 #H % 45 41| 86 13.2 72.8
14460 Bft B2 431 43| 86 13.2 72.8
156 Ay 3 O 38 47 85 12.0 73.0
1642 T & 40 44| 84 10.8 73.2
17650 K¥E F17 38 46/ 84 10.8| 73.2
186 HHE FRiE 47 43 90 16.8 73.2
1962 HFF #FHE 48 42/ 90 16.8 73.2
2062 kFH #H O 40 43 83 9.6 73.4
2147 1B B 43 40/ 83 9.6 73.4
224 B35 HA 401 49/ 89 15.6) 73.4
2361 I H 51 44| 95 21.6| 73.4
201 FF EF 41 41 82 8.4 73.6
2561 B H= O |42 40 82 8.4 73.6
26650 HFT #;E 47 41 88 14.4 73.6
210 Hll JeF 40 45/ 85 10.8 74.2
2860 AR BF 41 44 85 10.8 74.2
29 Hh #CIE 42 43 85 10.8 74.2
0L #®ik = O 41 37 18 3.6 74.4
i B =FE 43 411 84 9.6 74.4
322 m ER 44, 52/ 96 21.6 74.4
M /O =HF 40 43 83 8.4 74.6
A4 E# IE 45 44 89 14.4 74.6
3BbfL Ik —E O 47 42 89 14.4 74.6
3641 /IEH HF 48 47 95 20.4 74.6
3L &M Bt 42 46/ 88 13.2 74.8
384z EMA @A 44 44| 88 13.2 74.8
946 RO GE 54/ 45/ 99 24.0/ 75.0
407 2B H=EF O 43 37 80 4.8 75.2
M6 /A Fl— 42 44| 86 10.8 75.2
26 BEA = 38 48| 86 10.8| 75.2
43 $EO ARAE 431 42 85 9.6 75.4
4461 UK fHB— 49 48/ 97 21.6) 75.4
451 tBH {E— O 49 47 96 20.4 75.6
46 ®HE HBF 48 48 96 20.4 75.6
A1 IR i 40/ 55| 95 19.2 75.8
484 fEUE FEFN 58 49| 107 31.2| 75.8
4961 IDAR B 44| 56/ 100 24.0 76.0
5062 A FFT O 55 45 100 24.0 76.0
1 thi& FIE 53/ 53| 106 30.0| 76.0
92 K& 43 44| 87 10.8 76.2
53k HF AEF 43/ 50/ 93 16.8 76.2
5461 HII E# 46 47/ 93 16.8 76.2
55 mM FE O 49 50 99 22.8 76.2
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[=fiva K4 =) GROSS HDCP | NET
561 IkFr E— 44 42| 86 9.6 76.4
5161 Bl 2 48 44| 92 15.6) 76.4
58 L% H#d 42 43 85 8.4 76.6
596 FHy xR 45 45 90 13.2 76.8
604 8 H O 47 55/ 102 25.2 76.8
61 &AO FEA 54 54/ 108 31.2| 76.8
622 T BRI 48 47 95 18.0 77.0
63 =K & 58 55/ 113 36.0| 77.0
644 BT BE 46 42 88| 10.8 77.2
65 =H IEfE O 53 53 106 28.8 77.2
664 FHFB HHE 47 46/ 93 15.6) 77.4
676 #E 1{E1F 52 41) 93 15.6| 77.4
684 T A Y-F 49 44| 93 15.6) 77.4
691 #HiE EA 56 55| 111 33.6| 77.4
106 5K FEF O 41 45 86 8.4 71.6
1 K8 E=x 54 50 104 26.4| 77.6
1241 B EBEE 53 49/ 102 24.0| 78.0
134 lWE 0= 61 53| 114 36.0| 78.0
1AL BAR && 45 50 95 16.8 78.2
1560 Bl & O 46 48 94 15.6| 78.4
166 EH I 52 48]/ 100 21.6| 78.4
TSI &R 1B 44 49 93 14.4 78.6
184 | KIE Bhz 51 42/ 93 14.4| 78.6
195 EFF EHA 52 47/ 99 20.4| 78.6
80 AR —® O 4 41 85 6.0 79.0
81{if fE"RAK —=% 53 56/ 109 30.0| 79.0
824 JtlL ERR 47 49 96 16.8 79.2
83 LA EEX 57 51/ 108 28.8| 79.2
84 AW K 50 51/ 101 21.6| 79.4
85 #NE GABA O 49 52 101 21.6| 79.4
86 ZiE &R 52 55/ 107 27.6| 79.4
874L K HoH 54 46/ 100 20.4| 79.6
88 KA =EkF 46 54 100 20.4 79.6
89 FHE 58 56 56/ 112 32.4| 79.6
904z WA BEB{Z O 60 52/ 112 32.4/ 79.6
9161 Al E# 44 49 93 13.2 79.8
2(1 ik EF 50 55/ 105 25.2| 79.8
93 IRT #Fith 56 49/ 105 25.2| 79.8
U BAR FE 46 46 92 12.0 80.0
9541 F {8HF O 56 54 110 30.0/ 80.0
96 EXH IEIE 59 51/ 110 30.0| 80.0
974 LUK {# 55 54/ 109 28.8| 80.2
98I ARER =Z=H 47 49/ 96 15.6 80.4
99 =M =G 46 49 95 14.4 80.6
10045 HAR Zih O 44 51 95 14.4 80.6
101452 8K =4 51 56/ 107 26.4| 80.6
10262 A F # 53 59 112 31.2| 80.8
1034z SAIE  ==hE 47 45 92 10.8 81.2
104451 KiE $i+F 49 55 104 22.8 81.2
1056 AH EBX 47 50/ 97 15.6 81.4
10647 A& HEfC 58 51/ 109 27.6| 81.4
1074 AR B 55 51/ 106 24.0/ 82.0
1084z %M FX 48 57 105 22.8 82.2
1096 T =# 55 50/ 105 22.8| 82.2
110462 /MR EF O 52 53 105 22.8 82.2
ML 8K = 61 49/ 110 27.6| 82.4
241 15 F=H 53 50/ 103 20.4| 82.6
11362 IUTF = O 51 47 98 13.2 84.8
11461 E@ BFE 49 61 110 22.8 87.2




